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Quiz Date: 19t August 2020

Directions (1-15): In the following questions two equations numbered [ and Il are given. You
have to solve both the equations and give answer

I.x° = 144
or, Ly -24y+144=0
(a)Ifx<y
D) Ifx<y
() Ify<x
(d)Ify<sx
(e) If x =y or if no relationship can be established.

L2%x°-9%x+10=0

IL2y*- 13y +20=0
Q2.
(a)Ifx<y
(D) Ifx<y
(o) Ify<x
(dIfysx
(e) If x =y or if no relationship can be established.

L2x*+15x+27=0
IL2y*+7y+6=0

(a)Ifx<y
(D) Ifx<y
(alfy<x
(dIfy=<x
(e) If x =y or if no relationship can be established.

I.3x*-13x+12=0
Q4. IL 33?2 -13y+14=0
(a)Ifx<y
(b)Ifx<y
(o) Ify<x
(d)Ify<x
(e) If x =y or if no relationship can be established.

Lox*+8x+3=0

IL3vZ+7y+4=0
Q5. y y
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(a)Ifx<y
b Ifx<y
() Ify<x
(d)Ify<sx
(e) If x =y or if no relationship can be established.

I.25%% + 35x+ 12 =0
2 -
Q6. .10y +9y + 2 =0

(@) xzy
(b)x=<y
() x<y
(d)x>y
(e) x =y or Relationship between x and y cannot be established

L12x2+7x+1=0
7. I.ey?+5y+1=0

(@xzy

(b)x<y

(c)x<y

(d)x>y

(e) x =y or Relationship between x and y cannot be established
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.3x*-13x—10=0

I.3y2+ 10y —8 =
Q8. Y y=-8=0
(@)x=y
(b)x<y
(c)x<y
(d) x>y
(e) x =y or Relationship between x and y cannot be established
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1.2x2-21x+52=0
2 _ =
g0, 1-2v2-11y+12=0

(a)xzy
(b)x=<y
(A x<y
(d) x>y
(e) x =y or Relationship between x and y cannot be established

.3x2-13x+ 14 =0
2_ =
o102V -5y +3=0

(@xzy
(b)x<y
(c)x<y
(d) x>y
(e) x =y or Relationship between x and y cannot be established

.3x> —13x+14 =0
i1, 139" =17y +22 =0
(a) ifx>y
(b) ifx2y
(c) ifx<y
(d) ifx<y
(e) ifx =y orno relation can be established between x and y.

2x*+9x+9=0
2 —

012 II.4y“+9y+5=0

(a) ifx>y

(b) ifx2y

(c) ifx<y

(d) ifx<y

(e) ifx =y orno relation can be established between x and y.

Lx?—7x+12=0
4 =
ors, 1277 — 19y + 44 =0
(a) ifx>y
(b) ifx2y
() ifx<y

Adda247.com



Bankersadda.com Quantitative Aptitude Quiz for RRB Prelims 2020

(d) ifx<y
(e) ifx =y orno relation can be established between x and y.

Lx*—4x—-12=0
2 —

Qi IL.y 5y —14 =10

(a) ifx>y

(b) ifx2y

(c) ifx<y

(d) ifx<y

(e) ifx =y orno relation can be established between x and y.

L3x2—22x+40=0
2 _ =
o5, 1-5Y> =21y +16 =0

(a) ifx>y
(b) ifx2y
(c) ifx<y
(d) ifx<y
(e) ifx =y orno relation can be established between x and y.

Solutions

S1. Ans.(b)

Sol.

Lx* =144

=x= t12
ILy*-24y+144=0
=(y-12)*=0
=y-12=0
=y=12

So,x =y

S2. Ans.(b)

Sol.

L.2x°-9x+10=0

=(x-2)(2x-5)=0
5

=X = EDTE

IL2y*-13y+20=0

=y-4)(2y-5)=0
5

=y=4or;

LY 2X
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S3. Ans.(a)
Sol.

L2x*+15x+27=0
= [2x+9)(x+3)=0
-9
Z>x=—or—3
IL2y*+7y+6=0
=[2v+3)(y+2)=0

TARGET IBPS RRB PO/
CLERK PRELIMS 2020
S4. Ans.(e)
Sol.

[.3x*-13x+12=0
=((3x-4)(x-3)=0
4
::-x:Em'S
IL3y"-13y+14=0
=(3y-7)(v-2)=0
7
=yv=—0orl
¥ 39?’

So, no relation exists between x and y

S5. Ans.(d)
Sol.
L5x*+8x+3=0
=Gx+3)(x+1)=0
=3ch=_—5EI or—1
IL3y* +7y+4=0
=v+1)(3v+4)=0
—4

=y=—lor—
v or—

So,x =y
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S6. Ans.(c)

Sol.

I.25x% +35x+12=0

= 25x% + 20x + 15x+ 12=0

= (5x+4)(5x+3)=0
4 3

TrT 75

IL10y* +9y+2=0

= 10y + S5y + 4y +2=0

= 2y+1)(5v+2)=0

V=X
S7.Ans.(a)
Sol.

L12x>+7x+1=0
=12x% +4x+3x+1=0
= (EB3x+1)[4x+1)=0
Sx= i1

3
IL. 6y° + 5y+ 1=0
=(2y+1)(3yv+1)=0
X2y

S8. Ans.(e)

Sol.

L.3x°-13x-10=0

3x*-15x+2x-10=0

(x-5)(3x+2)=0

x=5,—§

L3y +10y-8=0

=3y’ +12y-2y-8=0

=(v+4)(3y-2)=0
2

=:"j.." = —4,5

No relation

S9. Ans.(a)
Sol.
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.2x%%-21x+52=0
= 2x°-8x-13x+52=0
= (x-4)(2x-13)=0
13
= x =4 —
2
IL2y*-11y+12=0
= 2y’ -8y -3y +12=0
=(y-4)(2y-3)=0

= —43
¥ = '3

X2V

S10. Ans.(d)

Sol.

.3x-13x+14=0

= 3x°-6x-Tx+14=0
=(x-2)(3x-7)=0
=:-x=2,§
IL2y*-5y+3=0
=2y -2y-3y+3=0
=(y-1)(2y-3)=0
=:-3.r=1.%

x>y

S11. Ans.(e)

Sol.

L3x° —13x+14=10

= 3x —6x—T7x+14=0

= (x—2)3x—-7)=0

=x = Z,é

.3y —17y+22=0

=3y’ —6y— 11y +22=10

=(y—-2)3y—-11)=0
11

=y = 21?

Mo relation

S12. Ans.(c)
Sol.
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L2x*+9x+9=0
=2 2x* LEx L 3xL+09=0
=(x+3)2x+3)=0

3

=x=-3,—-

.4y 49y +5=0
=4y 4+ 4y +5y+5=0
=>(y+ D4y +5=0=y=-1,-1

y >X

S13. Ans.(d)

Sol.

Lx*—7x+12=0
=(x—3)(x—4)=0

=x =34

I.2y* — 19y + 44 =0

= 2y? —8y— 11y +44 =10
= (y—4)2y—11)=0

S14. Ans.(e)

Sol.

Lx?—4x—12=0
=x—6x+2x—12=0
=>(x—6)(x+2)=0

= x=6—2
IL.y:—5y—14=10
=y?—Ty+2y—14=0
=(y-7)y+2)=0
=y=7-2

Mo relation

S15. Ans.(a)
Sol.
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L3x°—22x+40=0
= 3x> —12x—10x +40=0
= (x—4)3x—10)=0
10
=:'x:4_,?
.5y — 21y +16=10
= 5y’ —5y— 16y +16 =0
= (y—1)(5v—16)=0
16
:b}r:]__r?

x>y
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